.1

4 ,
(the linear retrofit design),

(CSTR)

(CSTR)
, (irreversible exothermic reactor)
(2540)
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A— B
rA = ke~EARICA
Ax
(highly exothermic
reaction) (CSTR)

q.. T,  coolant ./_—\ [ Wy
7 IRNS
W”\JW\A}\)

51 A—B
dp)V
) Pidi-m (5-D
A
# = qiCAI-qCA-TAV (5.2)
pCp - =pfliCpT; - pgCpT - AW (rA)v - UA(T - Tc) (5.3)
P
v
p.t P

<li-q =0 (5.4)



reaction)

CA

C Ai

Tt

Tc

Cp

Ea

AH

A Ka

66

(55)
! (Arrhenius reaction)
ka=keXp{-ea [RT) (5.6)
G4 () (51) (53)
=0 (5 .7)
dCA
it 8)
(iitT' ool 00 ) - psgv(T'T') 9
Tc A (heat of
(overall heat transfer coefficient)
51 A—B
Ms
K
A kmol/ms
A 15 kmol/ms
0003  mVmin
300 K
328 K
1000 ko/ »
79488 keal/(minK)
0125  m
1 keal/(kmol.K)
, 1.18X107  min
11922 keal/kmol
1987 keal/(kmol.K)
-8,000 keal/kmol



5.2

521

formulation)
(mean)

67

CSTR
(Normal case)
(parameter) (thermodynamics),
(kinetics) '
(variable)
(Normal case)
(optimization
(normal)
CSTR '
min 30092.2(F054) + 13009 + 27
JitAi - CA)-ke~EalRTCA = 0
y(Tm- - % ijz;)zo
08 rca,~cr <0
300<r<360

(5.10)



3
2
5.2.2
(Aw)
+ 10%
-A
k
AR Lok

CSTR

(conversion)

- 8800 < a1

5.2

8,000

1.18x 107

1200
1.062x107< k< 1.298xi07

600
1.18x 106

AN KN

800

68

0.80

(deviation)

1.18x 106

Adou kL

1
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= (anL kuy= {-8800:2062x 107}, Ch =01
62= {AHN kn} = {-8000, L18x 107}, CR=08 (5.13)
63= {anu, kL) = {-7200, 1.298x107}, crs =01

«1,Cl2 (T3 ,
3
(5.14)
min 30092.2(F°'54) +y crM(1300q + 27 p)
V.TP,CR p=\
y(CA - Cp)-kpe~EaqRTPC 4 = 0
fa AN (k'e-1,RTQ ) (T 71,)°=
0.8 " A ) , 0
300 <TP< 360
(5.14) (scenario)
Grossmann  Sargent (1978) 3 9 6
, b 5.2
fmuand hinivou
¥

fMmuaveuvavesnm hiinivou

- 8800 < AH < -7200
1.062x10” <k <1.298x107

afunmonanunsailnd Aliga taziaiqa
07(p=123)
N ) . 4
fmuaudamesinninvesudazaniunsal
|
o’(p=123)

.

oo1a lugHanFusmaniaves

v av ¢
m ¥ wnana 3 anunsel

fAvoRIULTIMIIZ Y
¥;C

5.2 CSTR
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5.2.3

(variable)

(two stage programming)
N(jUer2)

<k 53

53

q (mdmin) N (3 x 1031« 10~8)  0.0030 0.0003 0.0003
1t (K) #(300,4) 300 6 6

CSTR 2

min 30092.2(F°54) + ¢ {minl300* +21)
yirAi“ C/l) ce~captc A = ()

(r'r)=o (5'19)
08- (C"CG-CJ <o
300< 1 < 360
Con(3x1031x10%), 7o - iV(3004)
3
51 it 1
6 6

(5.15) 53



35

300

3X10s

fmuannu Tuiniueu
9T,

1BonAsuAY
k=1,C° =—0,V =0.05

uttlynerms (3.16)
wiweamubavguuosnny limiveudai 1
0.0027 < ¢ <0.0033

fnnuganIoARnes d My

qﬂl

udtlgymiaunis (3.20)
1 ' ) i - A
wieadanguyesnnu liniueudan 2

7“Ln <TH < T‘Un

AMIUYANIBAIAIADS TIN5

7"'1-0:

oo lugmmandavesnldsomuaums (3.23)
prew Ek

YES

' 4
ANV UNHUZTY
yrnew Ek

53 ' ,  CSIR

V=Y
k=k+1
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524

2

min 30092.2(F05) + £ {min*Tcrp(1300g + 2 7p))

y(C Ai-Cp)-kpe-EalRTPC R =0
f a T v ey )N -(rery,) =0 (5.16)

0-(EA )50

300<rp<400
o = JV(3x10 3,1x10 8), = 7V(3004)
(5.16)
151 300
150

150 (5.16) 54



¢, ={4H k},¢, = {q.T)}

fmuannu luniveu

}

i@enfusuAY
k=1,C* =,V =0.05

Y

unileymiaums (3.26)

wigamganguuesn liuniveudan |

0.0027 < ¢ £0.0033

Y

fmnuganeamneidmsiy
L

q

ufilyvreums 327

weawtanguvesnim himineudan 2

T‘_l‘ﬂ < Ti‘lx < T’_le

fnuAnIBAIAnDT d My

Ny
T[ll

fmuaveuwavesn liiveu
- 8800 < 4H £ -7200

1.062x10" <k <1.298x10’

A

a 4 a
a%'umwmﬂmun;s'?fﬂnn, Afiqa aziaafige
P =

v
fmuamlamesiminvesdazaaumsal

o’ (p=123)

po1d ludaman Swer 199 wnana 3 anmumsal amuaums (3.28)

y e

54

YES

fMeenIuIMINZ Y
e En

CSTR

V=y

k=k+1

73



5.3 CSTR

54
54
C () 5,886 6,886
V(m3 0.0387 0,0503
¢ K) 343.71 446.90
11 (K)
Tu (K)
ca (kmol/md 3.000 3.900
ca (kmol/m3 -
cu (kmolimd
53.1
CSTR
54
SR

H’llll *

55

6,041
0.0481
344.90
341.54
348.21
2301
1912
3.000

0.0387

6,185
0.0428
344.30
34181
346.98
2.705
2453
3.000

6,903
0.0537
345.34
339.82
351.57
2.118
1571
3.000

3.00



Cost($)

bl

ar

1

6000
5800
5600
5400

5200

0.045

T (K) 330 0.03 V (m3)

{ aa do ' n’: AA (aaa ' o
U 5.5 amenuidafenduslFnenauavesszuy CSTR AiUgsowun lidoundu

54
56
V = 0.0387 34377
hi, 2
2 (510) gl
(5.10) 80%

360

355

340

335}

g’

330.0 0.032 0.03@(m39.036 0.038  0.04

56 CSTR '




(euler method)
343.77

400

54

390
380 |
370 t
360 |
350

T(K)

340 W
330 H

320
310 {

300

51

5.3.2

5.3.3

53
6,185
34187 <1 < 346.98

100 150 200 250 300
time (min)

CSTR

54
0.0481
13
0.0481

+ 10%

5.4
0.0428

76



0.0027 < q < 00033

(1) 5.5
55 1 g
1 1 2 3
. 0.0027 0.0028 0.0030
s 294.0 294.0 294.0
7" 306.0 306.0 306.0
534
54
6,903

339.82 <1 < 351.57

l )
80%
56 noqd
il 1 2 3
q 0.0027 0.0028 0.0030
i 294.0 294.0 294.0

J'uj 306.0 306.0 306.0

0.0032
2940
306.0

0.0537

1+

10 %

0.0032
294.0
306.0

77

5
0.0033
294.0
306.0

5.6

0.0033
294.0
306.0



8

b4
'
54
4
54.1
4 (AH),
(k) (a) (T")
(deviation)
- 8800 <Aw <-7200 (5.17)
1.062x107< A<1.298x107 (5.18)
2.7x 10~3<q <3.3x10~3 (5.19)
294 <1t < 306 (5.20)
52 53
5

5.1
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5.1
(P) AH k q T, (crp)

1 L L 0.1

2 L L L 0.15

3 N N N N 0.5

4 0.15

5 L L 0.1
A= (lower bound); = (upper bound); N = (Normal
value)

5

(5.20)
min 30092.2(F054) + X (1300tf + 2Tp)

- (CA-C p)- k pe-RIRFCR <0
y { T ' -Te)=0 (5.21)
DNGKDEN W&ENIG

300 < Tp < 360
(521)

54.2 !
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58
58

AH  (kcal/kmol) AN=8000,7.1 x 104) -8000 800 800

K (min") AfL18x o715 x 1013  L18X107 ~ 118X106  1.18X106
q (m3min) iV(3x 10~31x 10-8) 0.0030 0.0003 0.0003
Tt (K) VE04) 0 6 ;

CSTR
5.8
2
mjn 30092.2(Fos4)+ hH,chE,q,Tj (rﬂé[) 13007 + 2T)
y{CA ~ Ca)~ ke~BBRICA=0
y{"i ~t)~~ { k ¢ EalRTCA)- (t-Tc)=10 (5.22)
Q.8-(Ch~Cn <0
300<r<360
AH = 7V(-8000,7.1 x 104), k- AT(L18x 107,155x 1013,
= N(3 x 10-3,1x 1CT8) 7= N(300,4)

(5.22)
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5.9

C()

V(m3

T00
TI(K)

TU (K)
CA(kmoI/m3)
C (kmolim3)
CA (kmol/m3)

CSTR
4
6,934 6,672
0.0543 0.0501
345.42 345.06
341.06 340.53
348.61 350.09
2112 2.309
1.539 1.789
3.000 3.000

524

5.9

6,903
0.0537
345.34
339.82
351.57
2.178
1571
3.000

81



5.5

0.1

01

(Sensitivity Analysis)

-10%, -5%, +5%

+10%

82



Cost (%)

5.10

An (kcal/kmol)

- 8300
-8400
- 8000
-7600
-1200
6300

6200
6100
6000
5900
5800
5700

5600<_

k (min')
10620000
11210000
11800000
12390000
12980000

58

511

v (m3
0.043

0.0407
0.0387
0.0368
00351

AH (kcal / kmol)

CSTR

CSTR

T (K)
3438
3438
3438
3438
3438

COST( )
6,101
6,032
5,856
5751
5626



Cost($)

- o

(q)
512 CSTR
o (m3min) v (M) r (K COST ()
0.0027 0.0371 3425 5,167
0.0028 0.0379 343.2 5,829
0.0030 0.0387 3438 5,886
0.0032 0.03% 344 4 5,940
0.0033 0.0401 345.0 5,989
qi (m3/min) T

517 5.10 idunswlanylves cSTR nuwl§aso ludounduy

84



C oist (39

513 CSTR
1t (K) v (m3) T (K) COST ()
210 0.0554 336.8 6,989
285 0.0462 340.3 6,405
300 0.0387 3438 5,886
315 0.0325 3472 5,425
330
12 7NN I, P e e
6800 |- -l NN~~~ domemccood
G e : ......... =53 NN R e e %
7 01 A, ; ................................... %
B200 Lo ¢ =il SLEN ""“""'"""""'"'"""'%
6000 oceceenn-n . o LI A !
5800 |omennmmmmnl o o ABIRIT G T PRI NP
BED0 bepuwnsuds N = = S R ]
340975 280 290 300 310 320
Ti(K)
K11 CSTR



5.14 CSTR

() (| )
" 565 %3
) 626 313
: 7, 111
r 1564 1042

5.14

+ 10% -10%

5.9

(fluctuation)

86



5%

+10%

87

(sensitivity graph)
-10%, -5%, 0%,
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